7.2 K| &I Z=ALM

1. 29




|

S=1 400

I ATV W WAL NS >~~~/ /// /)]

EY

55.849,

|

LD D,

AT

@440

Ead

391

41

400

Ll

(]

49

T} &

41

B3an
147
' \ 187w
T86~4 ¥
1l O
6758 1070l
] |_ L] ?
\
omic i
W
T Q 10y-1
10ut a — BN
t i\ =
w 1688 &
- a 67-%a
a ajfa 180-37 Smwe
a4 1.8 )
i T 39193, B.833
167-17a
pYOY wes
i 62-19
T.7 e
39.?;3 211
T,
e E W V7i-7a =
I [ N
wal=Su .
172-4a
H
-1
H 173
7 [ :
COR
173-1 1T=
1731 731
(1] 112~
i7
o 3
17343
P3-A%Foim 173-
173~
T o
K m 173-2
<0
173-179
V7.
e a 15
1 'lhn
-1 173-248 9

1030




« :
'z| 8 188 8§ Bly 8
LA H d d 41§ §
a L = \ \ N . B N N
O T N N O N N\t
T > . (=
2 25
Klo X0
H0 &0 30
Rr s )
0 K0
i0
ol
180

@ ©

B -
ELI(_+|) 55 Om1
| 4/30
| 8/30
- 8/30
26130
34/30

4

18.01. +

55.0
54.0
53.0
52.0
51.0
50.0
49.0
48.0
47.0
46.0
45.0

EL(+)




EL.(+) 51.8m

BH -5

EL(+)

52.0
51.0

BH -4

™
I

I

an

EL.(+) 47.8m

50/7

0.8.2.57

180

EL.(+) 50.9m

1

SHES

R NF S NF N S SV N NE N N

F 5NF N NE NFNE NG 4 Nk NF N

,\4. + NEONF N NF Y NE N N N

Nt N N NN N N NN SN N N N
o [=
[l

50.0

49.0

K0
&l

48.0
47.0
46.0
450

44.0

Ki0
o0
o
H

43.0

1

42.0
41.0
40.0

39.0

38.0

37.0

1032




NEENE IR

2045 1
ENY|PERSHD NBEA ' X HE | 447,356.55 | AlZ3@ BH-1
ZNQXI| HSA 237 R4S 20 Y®E | 18657472 |E 3| EL (+)55.0m
X A | 20071 55 138 |AIEBE | HESMA NEX| od# Xist4+9 | GL(-)8.3m
285 Gu-) 18.0m | A Z DI Sets-300 |RAX| |Ys INE*:! NX
NlE|%|F (MNE|EE - :’ d QE'C?—”*‘ bl
@ | N8 alolP8Flulzmlaa
MMM | = | |(3l/cm) o0l AHEICH|ZIA (B2 2
- * 22 %(0.0~5.7m) -
{ - - aEse 22 =
- -L& -
- e =L =
g -a8 C
L 3 15 e
- 430 -
;' s §) 3
A 30 3
— 8/30 bis
- (S2} o
E 45 E
'_" 8/30 :
: &) E
- 57 57 E
N 6.0 * = 5
- o | * EREE(5.7~8.0m) 3
: S - NEH0 22 2
o -22~x8 -
i T eI -
‘ — -a8 =
i 15 E
n Uf30 7
- S5 »
- 8.0 23 [ ¢ | =
- A + B2 E(8.0~16.2m) :
2 2 - yeEs) ; 2
- %Al - SPTEIRAl ZY~SE 2 22 28 X
- CAGLEA | - 14.0~16.2mONKd erBIAt2) B0H8I4 2
s + /4% - g A
= s+ = . -
o +/+ - 88 -
- L 7+ N
- e s
100 %/ -

\""._




NEETE =

2ME 2
ZANY| PEXSER X BEXAL - XHE 447,356.55 AE3H BH-1
ZNX| HEA 217 RS Al YXE | 18657472 |H 3| EL. (+)55.0m

E A Y| 20074 58 139 | AFEH B E4=MA NEXT ohy 8 X549 | GL(-)8.3m
SHANZ| GU-) 18.0m | A F DI fed =300 (F4 X - NZEZ NX

- gagza |y
=] CcM

METIEEYE

NE | BE
ey | 2 ] =
| AIE
&l ((&l/cm) (

M

(o))
o
%)
n

mn

kJ

=2
0 oo
K

g

g

g
RDOHA

) (%)

E
3

<+
b,

_ = == -
- E52s A

50/8

¥
AN F
<+
Ly

(s7)

\
L ke

AR

12.0

50/6
(58)

N ST
AR NN RN N
+

IR NI NI,

13.5

+
AN+
+
-

50/5

(89)

N N
NN
AN F N
N, N

¥
<+

-
-+

FRF N
NN R

N F
- . e b

{Ii.ll|[IIIIIlIII|IIl[I[[!}[Illllilll'llll[l]lI|IIIIIIIII|III|

+N\F

| [ 2t &(16.2~17.0m)

- SME2DEOY

- BjuH A~ B A

—élﬂ‘§§}~§l*§§} 31314

- agtzg 100.0] 40.0[ L |t ]
-H2g28 4|45

8.2

=

N
i

N

f 3 5

NI

++_‘\+
FNHNFNF

+
\-'.’_?_+_L

17.0 0.8

» 325(17.0~18.0m)

- BYAETH0Y mo|mol1]1 ]
_Eﬂ&"gﬁl& 21213
- Bt E S ~4l

- 28

-283g /

ade
n>

\IRWAL

14 3 7

F ¥ T
+ + F

+ + +
- ke

180 1.0

L

- 18.0m A Z=&E& -

'}III'JEI!llll‘lT_llllil|'ll
+
ke,
]iil'llll]llll'\lll I\Pl]llllII!I|IIIIIIII|IIII|II]I1]11!!!lJII!IIIIIIII]IIilIT11I|IIIlIIIll!IIIl

LN L

20.0

1034




N =2 F 8

20051

ENMNY| PExSEHD KBXA X XE | 447,355.66 |AM=3# BH-2
EANAX | HEA 237 RS U YRE | 18653955 |B 1| EL (+)51.2m
XM Y| 200749 59 1Y [A=YY RSP Al 2 X o 3 Xat49 | 6L-)9.1m
BIME| GU-) 15.0m | Al FI [oE-300 |RMX| S9s Nz2Y NX
dle|s| = |NE|EE & 8 geold A Bl
o . T[R CcM
= | Qgs?l /Tlé ! = CQDSFg
| x| A
MMM & [ds (3/cm) (2) (92) E D NESESE=L=d n]
- -G - + BH5(0.0~2.5m) z
2 1 - D40 X E
B ] A -
- o) L& -
[ Q - -2 -
- b "0 -58 r
i *Q | 15 i
= D . 0 7/30 N
B =0 | BN [~
N b "0 -
. = Q - -
{ = D. O -
g C 25 25 [vO » Z
i = =
- 5 . » EBEZ(2.5~8.0m) =
— == 11/30 = alEASO D) =
B 152) -8 -
2 - g =
- -a8 5
E— =1 20 =
- (S3) &
| [ -
| ~ =
| = =
S -
C 6.0 %
— —_| 16/30 —
- {54) :
E 1.5 E
= = 2430 -
- ) z
- 8.0 55 F
= b -
- /+ » B 8/25(8.0~13.0m) :
s s ) - NEtEs =
3 % - SPTEIAI 4E X 2R 23 g
- ;/: 0| e | - 11.4-13.0m0I A 2BI&Sl DoHSI% -
C AL - BN 5
- / -as F
— +7+ n
C 100 vy, C

1035




AN = F & =

: 20482
ZANY| FEZSHN NYUEMN X HE | 447,355.66 |AF3® BH-2
ZEMNRIR| HEA 287 DAS &l YHE | 186539.55 |E 1| EL (H)51.2m

X AL g | 20071 53 132 |AIFEY Bl E A A A =T o ®. Xt | GL(-) 9.1 m
BAAZ| GL(-) 15.0m | A F DI 28 -300 R4 Y8 = NX

2 3 FEEENF

NE | BE
ey |2 31
o2 | A
&l |(8l/cm) A

R E::
=3 in!
’ (M) | (M) | (

M

[}

< =2 -n
(1hd
RDBOA

A EO 2L B2

n
J]

N
.‘

{05 - BHYS A -

50/10
(s7

FRF T

RN
FNF N\ F
e

e

llllllllllllll

’\}

]

NF
A+
A

ke

FRF NF
AN\
PN\ F

e

&
=
+
\
+ N+
\\.I..

5.0

-+

* 012+=(13.0~15.0m)

- SNESQEHOIY
- gt~

- MEE3~S2HES 3(3]4
- H=2)8 623| 7.0 |1
- 13.0~14.2m It 414]5
-2 Y M2 3018148 e HE

BB
+

FF
+ N+
+\+
k. ks

+
+
@

‘l¥|ll1l|||||||11r 1iit|||||l|-|1
+
k.

F<F
AN AN\ F
N+

N
il

- 150 2.0

-15.0m A FEE -

o

]llllillll.!iIIIIIIIJ"(I}Illl[lllllll||

II'II|i||l|liiI||lIIlllII|IIIIIFIFI|III1|TII|]IIII IIII|ITTIIIIIII]IIIIlIIl]III||I||'I]'Il|‘l|\'|i|llll

i_r'|T|llll

n
o
=]

1036




N ZF F o &

| 2 S
ENY| PEZSEHD XXM ' X B | 447,332.70 |AZE3® | . BH-3
ZMNRIX| HSA 287 284S YXE | 186551.11 |E 3| EL (+)47.8m
XM Y| 2007 58 119 | MFSY 3| @A Al = Xt oty & X542 | GL(-)4.7m
S2rANEZ| GL(=) 183.5m [ Al F I S8 -300 |4 R S48 ANEZE NX
e 2
g|le|s| = |na|az e gga’CM Hl
[«] A
AR 7 N 80105 |lslnalaslea| 2 |
ES a~
M) MM | = sl |(@/om) (%) |(%) o =
: o2l » EH£(0.0~2.2m) | c
- i - Mol 22 -
- e - WA -
= v & - —
| = A - a8 -
- 5 10 g
- "0 -
Y 22 b vy it
N 2.5 i -
= so0 | * E3E&(2.2~7.0m) o
i - §) - AE4R 22 -
F - fosl =Y P
; R - uA B
' - -&8 _1
: 40 -
— 50/28 =
. " s2) .
; - 55 S s -
( - &) -
. - 7.0 ao | f[1J0 ] E‘
| - Vo » B81218(7.0~7.5m) -
! - 75 05 Va /i - ApEs} 5
X A - SPTEIHAl 4E R 222 23 -
3 Y% - gtpAre] A0kEl & —
g L+ ~-H 444 A -
- +/+ - as|oo |11 5 -
5 b7 58 5055 5
- [ « Q198 (7.56~11.5m) "
= [ Y - BABRSIEHOIY e
B +/H - B34 + B
- '+++ - et E~FAUES N - 2123 -
= L 4 - R~ AR 625(263(1 (111 2| 41 5 F
g (/% - jRABRE~ASDS 3|84} -
- 10.0 +/] C

1¢37




NSO

204 2
EANY| PEXSSHD XPHEM X XE | 447,332.70 |AZ2@ BH-3
ZMNRX| HSA 2B NS A0 YRE | 186551.11 |HE 1| EL. (+)47.8m
X A | 2007 58 112 [A 2wy B &S A A NZE2X| oy X6ted [ GL=) 4.7 m
SAAME| GU-) 185m | A F DI Set8-300 |RMX| SYH NE+-F NX
alz|s|=|Nz|8E o g daAAA |y
e | 2 9 & T|R 5 CM
stk B R = | Qlpls|e| [T
' MMM = | A |3/ S| [EwEsE) 2
- /+ E |1 :
3 -/t - plota % - = C
[ + /9 — -
= b+ 3|34~ n
- +/9 800l 001 |1]1 s F
s % NP RAE 3
F i/ + T -
b & I~ + /4 L [
( - 115 40 +A = -
- ey ~ BYB(11.5~13.5m) i -
— o+ - SNSRIEOY il —
- + A - of |l -
- Lot - SHE B~ Al A s -
- A - 2 wsles|i[ifil] a]| 7|6 F
- + - Sotng 2| 2|2 -
) -+ ] C
" + -
- + -+ 1 -
B + A .
1: - 13.5 20 + + — -
: - 13.5m A 251 - -
- -
CF 5
: a
E20.0 -




Y

=

101

At 9

TEZSE N XXM

X&B

447,274.06

BH-4

bt [ b

A X

NHEAN 283 A4S i

Y &3

186,550.90

EL. (+) 50.9 m

ZNY

2007 58 158

NFgd

Sl T M4

A =T

P &

SdaE

GL(-)

10.0m

A DI

S8 - 300

& 8%

=

(M) | (M)

n
(M)

AE
=12
%
AT

HE
e
AE
(81/cm)

Jl

)

=

RIVO~
ROOD

]

Foed
w

0.3

—1 N & M

]

IIIIilIIllll]IIIlllIIITIII|IIllIll_-I'l'\llI'lllllll'illl'lli'ii L]

o
ra

59

N
+ N+
+5+

+

+
+N\+
+N\ +

+
-+

+

SRR

N AN AN AN AN AN AN NN NN

-+

+
-+

SN

N

NN+
+
N EN N+

* E3£5(0.0~0.3m)
-AEHe 2

- 422I2E T
-g3zy

oy =]
—Baa

40 | 0.0

* ¢1245(0.3~6.2m)
-SAEE2HOY

- atg|M

- B ER~-52UES
- otpi~2EAe
L=

05 1

98.0 | 220

MIVER

20

R RN RRRRE R R

98.0 | 10.0

|l

IIlIII]lI

9.0 1 31.0

TV TV P T I [To oo TT

flill]rill‘I!IIII.IIII.IIIBIII

lllllllil

10.0

38

AN

R

<+
+

+N\ N\ H
NN EN N N+

AN AN AN+
ANANAN AN NN F
AN AN N+

b

» 5 82 2(6.2~10.0m)
- sMES DY
-

- 2128 ~otetEa;
- 2=t

- Aging~2EaY

-~ 10.0m AFEE -

91.0 | 48.0

LW AN = N[/ [FWWAR]

[T 1

<

780 | 51.0

4

[VT /I3

l

llll{]lil||l|ll]llll Ill]|(-lll|ll|l]\l

1C39




AR E N

+ 01 f=(2.4~3.8m)
- aAa=E20HMIL
- M

- deiEs~52A83
- oE 9 9Byl A0S
-5 3 M2 201848 B HE

~3.8mAIFESE -

1005 1
Z NG| PEESHD NYEM ' XBE | 447,285.27 |AN%3 BH-5
ZMNRAX| SN 2D NS 20 ; Y ®E 186,556.27. HE 1| EL. (+)51.8m
= AF 2| 20071 58 159 |AFgY g™aNS  |ANER| o9y X 8t -
2xAE| GU-) 38m |[AZJ| souH-300 [RAX| SYE | ANFES NX
4| E|%|=|Ns|BE S 2HEE

[o]
i A B %E ﬁé ! & < gDSFg
. x| = —+_

MMM = s (31/cm) %) (%) AHZEO A EZ| D
: i;? » 0§ @ %(0.0~0.8m)
- N - M| X
C 08 08 A 4 - g2y
b « EBE5(0.6~1.8m)
- - AEHQ 2
o 15 - x4
— 44150 — St2ra
C 1.8 1.0 S1) -&88
- A ~ Z 512 5(1.8~2.4m)
E A/t - MBtEs
e L /"/% - SPTEFZAI 4E ¥ 22 =3
- toH - &M .
10N \ 22 /

N AN
NN AN
AN NN +

&
=
+
AN

I'III|IllIIIIll]ilIlliIII|I||I]Illl|ll'll|lIII|III]Iliil'IIIIIIIII|II]l11ill]IIlllTl]I|IIIII'IIII]II\I

IIIilIIfIIII}]IIIIIlIIltllIIIIII]]IIIIIIIT?]IIIE|I]lllll[l[l

- 10.0




	20230208194807
	합치기-복사0
	20230208194831
	20230208194853
	20230208194916
	20230208194934
	20230208194956
	20230208195020
	20230208195038
	20230208195057
	20230208195116
	20230208195133
	20230208195153




